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ljlgof]lht /sd ?= 

 

! k"jf{wf/ ljsf; l;Gw'sf]^ :jf:Yo rf}sL ejg dd{t tyf lgdf{)f 1000000.00 

@ k"jf{wf/ ljsf; sf]^ b]jL:yfg dlGb/ lgdf{)f 1000000.00 

# k"jf{wf/ ljsf; j*f leqsf ;*s dd{t 500000.00 

$ k"jf{wf/ ljsf; ebf}/] sf]n*f+*f lbofn] j*f sfof{no ;*s 
:t/f]GtL 

400000.00 

% k"jf{wf/ ljsf; *'lesf af]^ kf^Lrf}/ df]=jf= lgdf{)f 300000.00 

^ k"jf{wf/ ljsf; b]p/fnL ;'nLsf]^ w';]lgrf}/ ;*s dd{t 500000.00 

& k"jf{wf/ ljsf; kfv|Lg^f]n  tf]/L ;'xf/f ;*s lgdf{)f 200000.00 

* k"jf{wf/ ljsf; ;f]nLy'Dsf a/sf]jf]^ ;*s lgdf{)f 320000.00 

( k"jf{wf/ ljsf; j*f leqsf ;*s dd{t 200000.00 

!) ;fdflhs ljsf; nlIftju{ -blnt,dlxnf,afnaflnsf, h]i& gfu/Ls 
/ ckfË sfo{s|d 

100000.00 

!! ;fdflhs ljsf; jf]u^L ^f]n vf=kf= of]hgf 200000.00 

12 ;fdflhs ljsf; sflnsf cf=lj= tf/ hfnL Uofljg sfo{s|d 200000.00 

!# ;fdflhs ljsf; sfnLsf cf=lj= sfof{no Joj:yfkg 225000.00 

!$ cfly{s ljsf; l;sfO{s]G$ Joj:yfkg sfo{s|d 200000.00 

hDdf ?= 5145000.00 
 

d]nDrL gu/kfnLsf 

gu/ sfo{kflnsfsf] sfof{no 

d]nDrL, l;Gw'kfNrf]s 

of]hgf tyf sfo{s|dsf] ljj/0f 
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